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1. SRCHTHR

Jackendoff (1972) ic ¢ 2 1¥. BiI$2ic |3 NFERYRTHE (inherent presupposition) & £ 212 %49 2 Bl
2 (focal presupposition) ? 2 FEEHHH 5, BB REENFONENZTRN ) b, BED 5\ I35
b7 EORRRIEZNZ TH, —EAEDWH TH D LERIN T 5, Hlz 3, HEX(.
ATEXLAD)EMZX(1.c)DWTHOBRBERICL., 1.ADICRENIWHIIEDL) LLEDL
N3, TNz khbEdiAICIZI LR (existential presupposition) Z*NFERIRIIE & L TR
WTWBZ LT B,

(1) a. The present king of France is bald.
b. The present king of France is not bald.

Is the present king of France bald ?

o

d. The present king of France exists.

FERkDRH D 5. @Q)TILBIRFIR & W ) HHAF TRBIN T D EFELI LU TH 5 2 &5
A5 pregnant D NEMBIRE TH 2 Z L a5 5, 72, Q) TIIAEM (factivity) » B F
regret DINTEMIBIHE TH 5 Z L hah b,

(2) My neighbour is pregnant.
My neighbour is not pregnant.

Is my neighbour pregnant ?

p o T op

My neighbour is a woman.

(3) a. Tom regretted that he hit Mary.
b. Tom did not regret that he hit Mary.
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c. Did Tom regret that he hit Mary ?
d. It is true that Tom hit Mary.

NAEBIBTR S B ERERML E Vo 2BEIC L > TR BENE DI L. BT 2HHED
FHRFFEDWMNOBTEDOFELFIETCERLBRI L INEDOPICE T TEREIND,

(4) A : Who hit Mary ?
B : TOM hit her.!

HEAICBT, FELFBYRELFAICEZ BT, (G.a)lcRE3 NI ANIET
HEHTH) . 6.b) TRENZEHDALF L ERE L TELFA»LFELFBIZILN
Twd, ZOMBFTHEES/ERICHTIAHRTH ), —KRIICEZ1E, XNEHZEHTEEZ
Bz EickoTHREZIND,

(5) a. X hit Mary.
b. X is Tom.

BAICHT AN BT ¢ LTAZ L Y IC, FKEDOTIICHECBEE L 2 HETERINDLD
T. \WhW 3 HE#H (given information) & % \» (2 BEAIE#H (known information) & A TE LD
PRZOUNEDTH B LIFLBRTH .2 Tl T, BERLEML: OBETERI NS
WAERIRTEE DS, REEDWMN OB TIHER & 2BEAEHR L L TEEET 205 &) 23, BEBRIRITE
TH5HZ iz b, Jackendoff (1972) % Kempson (1974) i3 NAERIRTIE b B IS AT 2 RTHR D
A ERLCIHERD 2 VBB RTHZ L TEUHE L > T0b,2 L Lok Zi@Emic
MIBHH 5 Z X 134E(1976) 12 B W CBEICTRHEE A TH 5, #fa TIINERTE 2 IHEH D 5 Wi
BEAES E BT 0I3R) TH N, Eaoxd 2014 & WENHEIEEZ. 2 Zh., FERHET
(temporal precedence) & FEHYHAT (logical precedence) & \» J BIDREHAHT 2 T XX TH B
EFRL T 5B, EAISHT 2RI % BERIORAT & V) BRIV 2013, B kb T1E
WABMORED L TR > TEHEZ 6N TV HITFIUEE 5%\, DF ) #KFEOH THTD - TH
bLTw e b, LW BKRTH S, 72, WEMHTHEZRBEFBATE V)OS LM
U 2013, BitELEDLL T 2 EHZEEL FoBE L T GREDE - 2 RFEITRETH
LBEVIERTH D, BADEAICIE, WHITFELFORBEERZITICEb> TnabITTH S,
2% N, (6.2) TH7 7> ACEHEI VB L) FERHE. (6.b) TOBALZMETH S &\ 9 Hi
£, (6.c) DHIXNEDLTHNEVETH 5 L\ HitkIL, (6.a-¢) DRFENWILT 5 72 DawEM %«
EWIc B2 TH), MEFHAZDOILRFIL > THI- TWBMBEL LI VE V) DY, EE
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(RT#5E) NWHTH 5,

(6) a. The present king of France is bald.
b. My neighbour is pregnant.
c. Tom regretted that he hit Mary.

T3, BN RUDETE)DRIIRIZ ENORIC L TEB I . EBIN-FiBIRSEd T
EORLBRENLZET 2DTH A9 b,

(7) It is John who writes poetry.

o e

It was on the table that I put the book.

o

It was only to discover the relationships that they were questioned so closely.

(8) a. What we had was a piece of paper.
b. What John did was go to the store.
c. What John is is kind to his friends.

SR L FPAFHL@NC BN T TREPBE N ERIZ, BESELOELLIFINDE, 2D
EEREZ DL, BT EBUSR that,who,what 7 XI2 & > THEA N A HEBHIZE SIS
LHIMETH B L) IcBbNd, L INLOREBHVESICHTIRHEEERDLL TN THN
3, TR EGFPTEILNFIHRIT. EO@NHAE L EKIC, BERE »BEMERE2E->Tw2 2
it b,

SRLEFOPTRILICRA LN DR EZELICESICHTARHETH B L EZ 2NDITIE, WD
POMBEIEHN %) TH5, T8I, Chomsky (1970 : 70) LI T 5 L H i1, 2h < & L4
HTB W, %83 be BIFANER, 2F ) FRLDEHNE, UADMEICLET L2 &h°
TE 5%, BARIZE 213, (9.b) & (9.0) TR ¢ L THEMIHT 2R L RICIEA 2R BEI O+
2B A 52 LN ERFELTWD,!

(9) a, Isit JOHN who writes poetry ?
b. Is it John who writes POETRY ?
c. Is it John who WRITES poetry ?

F 72, Prince (1978 : 884) #°477% » T\» 3 & 5 12, SR L RS RLORIR 2 HEK (10.a L 11.
a) bEER(10.b L11.b) LIS EET 285 (12) L 2 (HHLMAT T2 L LWHETH 2,
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SR FUG RS BN Z D L ) 2B LK FEichl(1-3) TR-NEMRIR EF L
LOTHY ., TDHKFECB T 2BEBIIREFTZET 5 L2k 5,

(1) a. It was his keys that John lost.
b. It wasn’t his keys that John lost.

(1) a. What John lost was his keys.
b. What John lost wasn’t his keys.

12 John lost something.

IN2ONT EiF, AL BUGRESTICH ) B IHERD 5 W IZBEFER L WX E L0 L
IH b F, RERNRHRNGE LFERIC, BREOLZHEETHL I L 2RRL T5,

2. FEXDER
BELDOFHRDREOP TEN L ) kB2 R T O 25 5 2 TEELBE 214 L T4
.5 D% Prince (1978) T 5, Prince DRI HHC L BUFELOKEEFIC BT 2BEEDV R L 5
ZEERLAERT, TN TCOGRLICHETIMRLII—BREETLINTHS.° 22T
Prince DEEN I b, UTIKERT IR BICLELTEFI2 T TFHICETLHTBLILIZT 5,
Prince i35 & SPGB BT 2BREENIRL B Z L 2R dic, £ 3. IHEHE
BRI E® 2 R0 & 5 IcKBIT %,

139 a BEAER (known information) : 5L FHHEETH B ERLL., $2bs NZFEHEF
PEIUNIENEN) BEOEZBICH S TWETHA) EEELFIEZ 2EH.

b. IBf&#t (given information) : #& L FHMEFOEROPICH B LIEL TS L2A 2
D% NER

A3) D k5 XA 2 iz, S0 L BN NREFEICINT 2 RER2RETL. (4)iIRENB &
5 7 BB HYRIE & B E OIS EOLT % & Prince 3BXTw 3,

149 a DHEXDAEIE B EH
b, SIS RICORIE | BE#REE D,
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FP. RKDA5D L) %l 6. SR ) BiiRI (13.2) nERTOBRMERTH D, (13.
b) DERTHEBERTH 2 LEI v, L@l T3,

(1 a, If I see a train crossing, I keep going. It’s a game you’re playing.
Watch the stop light.

b. I've been bit once already by a German sphepherd. It was really scary.
It was an outside meter that the woman had. I read the gas meter and . . .

(15.2) NGB FHTLERET, FHLFREEFOEHOHIZ“You are playing something”»*
HBEFEZDULEITLC, ARICA5.D)DGRHIERHT 2EM T MEFOEHRDHI“The
woman had something”#7"% % & % 2 5 WEi3 e\, & Prince (BT#8E | 894) i3 F5ET 5.,

=%, BUSRCBEL T, (16) D& ) ZBI%251< 2 &ic & ) ZDHiEEH(13.b) DEBR T
B TH 5. & Prince (Fi#BE : 887) 133w L T 5,

(19 a. ‘There is no question what they are after. What the committee is after is somebody

at the White House. They would like to get Haldeman or Colson, Ehrlichman.’

b. ‘Nikki Caine, 19, doesn’t want to be a movie star. What she hopes to do is be a

star on the horse-show circut.’

#1(16.a) i3, BPADHZNH[HE (the committee is after someone/something) #»51Z1ZF D F TN
FBTERNICEL TWa ET, BUSRORRY IHESRZE) Z & 2R L T A IR 2B T
HHLINTD, ZOL) LB TH . B1(16.b) D & 5 I2HHLNHHE (she hopes to do
something) % 5&479 % #B4 (Nikki Caine doesn’t want to be a movie star) »"&ZE 3 2 & 2>, &
SVIIREL LRIBEDPHR TE DHA»L) B THD LR/ LN TS,

LU_E#* Prince m#&aw ) LBERST Td 5, LUT TIIBEMEH & 1B HICBIT 2 (13) HX 31 & A
RIS 5 (14) DRHEAHT 2 K & L CELWBER TH 5 LRI AN, ELICHERLEDLZ LICT S,

ZZTHUEOI) DFERICLBERS Z EICT 5, £ T EAICNT 2RI IBE®RE B
ZLTELIZ WA, ZHUSHL T, NEMFHEREL FOREER LEOBRIC LrBX T,
WHIRHERE L THEFIEZ LGN Z E0H 5 LIERL T3, E@dEa@z6lic i, (17)
DX EHMNTHH THE EDEDHFLE(17.2) %R, BE > T b FT—OFLEAT.D) ICE T EH
HbBENHIZLTHD,
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(1" a. Pass me the salt.

b. Open the door, will you ?

7z, BFHREZBICT UL, KDL ) UXEHMATHHTT /= DEAD I AL ED 3
ADZHETH 5 (18.a) L L FEDHICEERL A>T 5 (18.b) Z LIZRDI ZEHE N/ 5,

(19 a. Three inhabitants of my apartment house are pregnant now.
b. If the stuff in the box melts, the electric current runs though it, which triggers the
explosion.

FRRIC. ELF ADPELTF BORDEFELZHM A THHT. BOFEEN 2B L bbb LiEREL
Tvxéo

19 A : How was your trip ?

B [ I regret very much that I could not speak Japanese so fluently as my friends.

ZNEIICEL T 5 & WENRHE & RIDBHRYILE - 2R 2 Fr b, By 250
12 & USRS DOFHRD P - 2R o T b 2 09 h 5, 2F ). (1492 20n&LHic
BIEYT 2 Z EHMRTHE L) ICEbND,

Q) a. FEIXOHIH & NIERIFTR CBEAfEEH
b, BERARCHRER & EAICH T BEHR | IBEREZE S,

(20.b) DB L & RIS H§ B EHROBBMEIZ. 2 212 (21) & (22) & L THUGIAL 2%&N
@& (16) 2 BT 22 LI NIIFEWTH ). TNLULDORERKIRELZ ZFA T2 L) IcizE

2T, BRTRINUERR L W 2T 5,

@) A : Who hit Mary ?
B : TOM hit her.

@) a. ‘There is no question what they are after. What the committee is after is somebody

at the White House. They would like to get Haldeman or Colson, Ehrlichman.’

b. ‘Nikki Caine, 19, doesn’t want to be a movie star. What she hopes to do is be a

star on the horse-show circut.




£ | SR ERHEE 49

Kiz. (20.2)127R 3 NI OFIHE & WEMFHENOBOMEIZ OV T, & ) bIFHERREEC
IOV BEM (factivity) ICEB L %255 St ERLE T 2 2icT 5, 2NE T, 20 27&
BORRIREORNOP TEORLRELHT 222K L. e, L - (HELFLHEEF
DIBETHFHICL > TR LBER LW EE2RTEL, ZoBEMEZBILL T<NE W Op
DEEIBETE D,

£ 1DBERIIBEDREVICHET 20 TH b, FRINEBTIZFRZ EL TS TH 55%
Chomsky (1970 : 70) b#5#§ 2 & J 1o, ZoORHR 2 Kb THBENICHER L 8 ) BEAEOEH T
H OGRS 2N DL Y ICET B, ZHZ EizDon TR, Bz, B9 & NBIE TR ¥Ic N,

@) a. Isit John who writes POETRY ?
b. Is it John who WRITES poetry ?

GRIDFHRPIBERE RO T LI VHERL L. ) BHBOL LI AL WEHREL - TL
F)I3TTHB, L L Prince T 2 & 510, FHEIOFHRIZEBRTIIZ (. Wb ITHHR
ELTHEFIEIL6NDE Z L 2BOHNUE. Q)DL ) LHBORBESILURTRILZ L TH
b,

FRIDGE LR L & ) ICHBEBHSWENREFEOMIPICET L L) BESDH B, BT,
Jackendoff (1972 : 277) 13 (24) » & - e UERRFE % FEFF & T 2 XOFLH P, IEREHEH
BN Z LR THE, LIERHL T30

@9 a. Bill knows that eating TENNIS balls makes you sick.

b. Bill doesn’t know that eating TENNIS balls makes you sick.
Bill realizes that eating TENNIS balls makes you sick. ?
Bill doesn’t realize that eating TENNIS balls makes you sick. ?

Q0

ZHZ L AKIE, REMREOHLIIABRRLE ) bOTREVE V) ERMTE L FEL %\
ZETHD, ZL T, (22) & 20)I253BBED CH> THTLRBRDPALNDLZ LIE, 20250
AR ARG L & 2 A CHBENZ2FHOZ L 2R T 1 O RE R LT 2 & HTE B,

Y9 1 ODFE#AY, | think % it seems that 7% & D#EHEHRIZEB (hedge) » 5B LN 5,7 EE%
5252 BT ZBICHY LN 2 8ENEB (hedge) 1361 (25) 2R T & 5 12, SRETOBHEEE
IIBAETIZC W, 72, BI26) 25005 & Jic. MERBENRCPIZLELIZ W,

@) a. ?? It was a month ago that, I think, Mary called her boss a pig.
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b. ?? It was an accident that it seems that shocked me.

@) a. ?? John regrets that, I think, he left his home.

b. ?? Tom doesn’t realize that it seems that his baby ate a ball.

R RB (hedge) HHHLNFHZE & MEMRFNMLHT TZ N L ) L IBEDREFE V2R Z
Lid, Z2EBORHRICH L TAR T L > ZRBHTOELE2RTLNDEVZ B, L¥EL
by SREIOEHE D MERBFEOMLLHIC, EELZRDLL TV B EFELTFVREL XTI %
LW bLTHb,

3. W
SELICBb N B RHRLNAENRIE L EOL . RSB b N 2 AR ST 2 B
CHT 2 2 L 2FBHARBOBE L ZH TR OB, LF;in L 72, WAEEIHR & o) FHFEEIEAR
RENERICNET 2R 2 ERT 5, S FIRIZVbITSRI L W) BT NET 5
Bt E F 2, WEMFHRORRLE E R Licd ), NEMAER L W) e BRLILRDY
RN L HIcBbn s,

iE

1. BEOBMICHE-> T, KXFCTREDEINLERERT I EICT 5,

2. |A1E# (old/given information) & BE&{E R (known information) & I3 EBIZXFI I N 5N &
THbd, THDHEIZOWTII6— Dikwr M,

3. Jackendoff (1972 : 276) iz:kD &k Hi2im LT %, WEMBIHRIZFEL Fo7H0 & &= Frdk
FTBEEETHHEH L) AiR—MRICHK D LOFMF 22T, £ /2. Kempson(1974 :
186) 1Z AR A ZE (factive predicate) DHICIIFE L FLH X FHrRETIBREZELT LH
LTwb

4. #lix Chomsky (1970 : 70) 7 & &,

5. SR LBHUARIIFERTH ). KFBICBVW TR ELLEH - T T bLL W ET LN
FATT 13TLTOMRHIRL TE2HETH %, B12(1F Akmajian(1970) 2 S,

6. Jackendoff I3 AN 3 T2 L H iz, MERRBREOMLIIFB LFLHEFIrEET2E
RILbLARTS ) EZHDIEBHEZERDLL TV B EFRL TS, 2D L) LFEERNF
THI(24) DXITRIGBDALBICE T AEELNEDORICFE L S HHEINLDH, RIZIIAHET
»5,
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7. BEHEA (hedge) ICBI¥ 2 2 Z ToEERIZ, Kamio(1991)ic k> } #4% T\ %, Kamio (8
BE) BRORET 2 MK BamOFMA D H T Prince (1978) iR 2 BREF L T 3,

BE XM
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